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NOXEAH2SHA HE A7
150,000,000 150,000
= ESmES, 102,000 102,000
207 AR 102,000 102,000
01 ARSI 102,000 102,000




M 2s0l=1
M Btli=ds
&2l 23t Al (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
e T EEREE e
10,000,000 10,000
NesZ Mebts o1=d g
20,000,000 20,000
NE=23 therd ob3tole 30,000,000& 30,000
140t O Deld| 20,000,000 20,000
I8 olYE SHT 22,000,000& 22,000
HSESULEUEATTF 663,532 2,310,415 1,656,883
[ 600,000
o 53,532
S2AULHUERIRS 23,532 20,824 2,708
201 et 3| 6,952 9,824 N2,872
01 AtR2te|Hl 4,672 7,544 N2,872
NAIRES & A2FH] 50,000& * 122 600
NE23ERF2 A
8,000 38 +583] 1,392
NAAE2CLEUERAT 5 22=H
= 2,000 *500H 1,000
eSS HUEAISING] B4
g 70,0002 x6EH *43] 1,680
2 35244l 2,280 2,280 0
NS85 0188
47,5003 x20H A+ 128 1,140
N&E=J1 018 47,5003 x20H A+ 128 1,140
202 04| 14,580 9,000 5,580
01 2K 14,580 9,000 5,580
NER2E LT 20|
60,0002 38 *813] 14,580
203 HR=H] 2,000 2,000
03 A=A R =AH] 2,000 2,000
Nd2sted gRFa 2,000,000& 2,000
Ztllzsu=sIe= 30,000 50,000 220,000
307 el2to| & 30,000 50,000 /20,000
02 2B YA R E A 30,000 50,000 220,000
128K A dlo 29 30,000,000 30,000
CENXNSANERSHNMEE AL AABRAZAI (EX) 600,000 0 600,000
[ 600,000
401 Al HIZ S 0HbI 600,000 0 600,000
= 600,000
01 Al&H| 600,000 0 600,000
NAGIENSOHEFE Ze/AIAE 2F
600,000,000 600,000
= 600,000
Alg2el 8,648 0 8,648




M 2s0l=1
M Btli=ds
Chel: Ald el EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Alg2e] 8,648 8,648
201 er23 | 2,048 2,048
01 At2teltl 1,048 1,048
NAIZ22] PRFT ARES 7Yl
50,0002 122 600
NAlE2el PR A
8,000 18 +563] 448
02 S52g4l 1,000 0 1,000
NAIEE |X2el S 2L
1,000,000& 1,000
202 04l 6.600 6.600
01 =LHAHI 6,600 6,600
NAIZ2e] PRFE ALY
60,0002 x1&*602] 3,600
DAl 2e] PREN SR S0
60,0002 18 *502] 3,000
A2 3HI(2a0=1) 19,200 14,550 4,650
=8l 16,600 10,700 4,900
Jl=23t] 15,600 10,700 4,900
201 fer= 3| 2,400 2,100 300
01 AtR2te|HI 2,400 2,100 300
NEA2E MREE & A2 7Y
120,000 x20H 2,400
202 04| 9,600 5,600 4,000
01 SLHoIH 9,600 5,600 4,000
NEA2S 20 60,0002 x20 2«83 9,600
203 HE=H] 3,600 3,000 600
M FAZHLRFAI 3,600 3,000 600
1)202101 & 300,000 x 12 3,600
JI2H(&E 2L HUIESRTTF) 3,600 3,850 A250
Jl2Zul(8238) 3,600 3,850 A250
201 fer= 3| 720 1,050 A330
01 At 2|l 720 1,080 A330
NEA2E MRES & A2FH]
120,000& +6& 720
202 04l 2,880 2,800 80
01 SLHoIH 2,880 2,800 80
NEA2S S0 60,0003 6 +83] 2,880




